Assembling Instruction

Attention:Do not tighten the screws until all of them are in right positions
NOTE:Please contact us in time if you find any accessories missing or

damaged in the package ,we will send you the corresponding accessories
for free.




X6

M6

/
N\

() P

M6x35 x20

M4x16 x2

O)

X2

M4

M6x30 x40

M6x12 x20

X6




|G| x10]|c| x1

\W}\ﬁ)\ﬁg\ﬁ)\w

d=d=d=d

\\

g

B AR AR OO

EEEC

VT X ST TV




